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Topic 1, Volume A

Question No : 1 - (Topic 1)

What is a limitation of LDP?

A. Traffic must follow explicitly configured paths.

B. It requires a full mesh of LSPs throughout the network.
C. It requires a traffic engineering database (TED).

D. It does not support traffic engineering.

Answer: D

Question No : 2 - (Topic 1)

Which two statements correctly describe BGP operation? (Choose two.)

A. IBGP does not advertise routes learned from other IBGP neighbors.
B. IBGP advertises routes learned from other IBGP neighbors.

C. EBGP advertises routes learned from other IBGP or EBGP neighbors.
D. EBGP does not advertise routes learned from other EBGP neighbors.

Answer: A,C

Question No : 3 - (Topic 1)

Click the Exhibit button.
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You work for ISP A. Customers of both ISP B and ISP C must be able to reach all of your
customers, but your network must not allow transit traffic between ISP B and ISP C.

Referring to the exhibit, which two methods could you use? (Choose two.)

A. Use local preference to prefer the proper routes.
B. Use the well-known no-transit community.

C. Use policy to filter routes on AS number.

D. Use communities to identify and filter routes.

Answer: C,D

Question No : 4 - (Topic 1)

Click the Exhibit button.
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LOP WPLS

Your IT manager asks you to describe a benefit of migrating from LDP VPLS towards BGP
VPLS considering the operational network shown in the exhibit. What can you tell your
manager?

A. Using BGP signaling improves scaling, because a full mesh of transport LSPs is not
needed.

B. MAC addresses are learned through BGP instead of LDP, which improves scaling.
C. Ingress PE replication can be reduced, because BGP VPLS supports P2MP LSPs.
D. Configuration overhead is reduced when adding new sites or new VPNs.

Answer: D

Question No : 5 - (Topic 1)

You have configured bidirectional LSPs between R1 and R3. You notice that the LSPs are
not coming up.
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ledit] [edic]

usexlRlf show provocels mpls ugerdaiF anhow protocols mpla

lahel-gwitched-path Rl-to-R3 [ lapel-gwitched-path R3-to=-R1 |
o 192.168.71.3: Eo 192.163.71.1:

1 ]

interface ge-1/1/8.0; incerface ge-1/1/3.0:

Referring to the exhibit, which statement is correct?
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A. You must disable CSPF for the LSPs.

B. You must enable CSPF for the LSPs.

C. You must ensure type 5 LSAs are allowed in area 1.

D. You must ensure OSPF traffic engineering is configured.

Answer: A

Question No : 6 - (Topic 1)

user@PE-1# show routing-instances Cust
instance—-type vrf;
interface ge-0/0/1.0;
route—distinguisher 5:5;
vrif-import vrf-imp;
vrf-target target:1:1;
protocels |
bgp {
group cust {
peer—as 100;
as—override;

neighbor 204.56.78.1;

}

user@PE-1# show policy-options policy-statement vrf-imp
term 1 {
from {
protocol direct;
community target;

}

then accept;

}
term 2 {

then reject;

user@PE-1f show policy-options community target
members target:1:1;

PE-1 is not sending any routes to the CE router in the Cust routing instance.

What is the reason?

A. There is a mismatch in the target community and the route distinguisher.
B. The vrf-import policy is only accepting direct routes.
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C. The as override parameter is causing an AS loop on the CE device.
D. The vrf-export policy must be explicitly defined.

Answer: B

Question No : 7 - (Topic 1)

What is the purpose of the no-cspf command?

A. to successfully signal the LSP across the network regardless of constraints

B. to delete the CSPF database

C. to ignore OSPF when calculating the ERO

D. to successfully signal the LSP only if the default IGP path (or named path) meets all
constraints

Answer: D

Question No : 8 - (Topic 1)

You recently added your autonomous system to an existing BGP confederation. You notice
that a route that had a local preference of 100 now has a local preference of 50. Which
statement explains the change?

A. BGP path attributes such as next hop, local preference, and MED are normally restricted
to a single AS but are allowed to propagate throughout the confederation's AS members.
B. The confederation has sub-ASs that require all IBGP routes to have a local preference
of 50 or below.

C. When your Junos devices joined the confederation, they lost IBGP connectivity to the
route in question; the local preference reverted to 50 once the BGP peering established.

D. The route is being shared through an EBGP peer, and the confederation is propagating
the local preference from the peer.

Answer: A

Question No : 9 - (Topic 1)

Click the Exhibit button.
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[edit protocols isis]
usermRE 3 show
ignore-attached-bit;
level 2 disable;
interface ge-1/0/1.0;

Ft4

Based on the exhibit, what do you expect to find in the configuration on R1 and R4?

A. a policy leaking level 1 routes into level 2
B. a policy leaking level 2 routes into level 1
C. a policy setting the attached bit on level 2 routes
D. a policy setting the attached bit on level 1 routes

Answer: B

Question No : 10 - (Topic 1)

IS-1S is configured to support both IPv4 and IPv6 routing. Which statement is true?

A. Separate IPv4 and IPv6 hellos will be sent.

B. IPv6 will have a separate link-state database.

C. IS-IS v6 support must be enabled under protocols isis.

D. I1S-IS sends IPv6 topology information as new TLVs in existing LSPs.

Answer: D

http://www.ensurepass.com/



Dumps with PDF and VCE +Free VCE Software

Question No : 11 - (Topic 1)

Click the Exhibit button.

user@router# run show class-of-service rewrite-rule name traffic-class
Rewrite rule: traffic-class, Code point type: exp, Index: 58855

Forwarding class Loss priority Code point
best-effort Llow Qoo
bhest-effort high ool
expedited-forwarding low 111
expedited-forwarding high 011
assured-forwarding low 100
assured-forwarding high 101
network-control law 110
network-control high 111

Your router should be configured with a rewrite rule which alters the default behavior of
expedited-forwarding as shown in the exhibit. Which configuration is correct?
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Sl B S o
userfrouter# show clasz-of-gervice
rewrite-rules |
exp traffic-class |
import default;
forwarding-class expedited-forwarding |
losgs-pricrity low code-point 111;

}

C B [edit]
userfrouter# show clasz-of-gervice
rewrite-rules |
exp traffic-class |
import rewrite-rule best-effort;
import rewrite-rule expedited-forwarding:
import rewrite-rule assured-forwarding:;
import rewrite-rule network-control;
forwarding-class expedited-forwarding |
logs-pricrity low code—-point 111;

}

}

C C. [edit]
ugserf@router# show clasz-of-gervice
rewrite-rules |
exp traffic-classz |
import best-effort;
import assured-forwarding:
import network-control;
forwarding-class expedited-forwarding |
loge-pricrity low code-point 111;

}

5 BE editd]
ugser@router# show class-of-service
rewrite-rules |
exp traffic-class |

import best-effort:
import assured-forwarding;
import expedited-forwarding;
import network-control;
'

A. Option A
B. Option B
C. Option C
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D. Option D

Answer: A

Question No : 12 - (Topic 1)

You are facing BGP scaling issues and decide to add dedicated route reflectors to your
network. You notice that VPN routes are not being advertised by your route reflectors.
Which three actions can you take to solve this? (Choose three.)

A. Add a static default route to inet.3 and/or inet6.3 on the route reflectors.

B. Add a full mesh of MPLS LSPs between all of the route reflectors.

C. Add MPLS LSPs between the route reflectors and their client routers.

D. Add a static default route to inet.3 and/or inet6.3 on all of the client routers.

E. Use rib-groups to add IGP routes to inet.3 and/or inet6.3 on the route reflectors.

Answer: A,C,E

Question No : 13 - (Topic 1)

uzer@R3> show pim join extensive
Inztance: PIM.master Family: INET
E = Rendezvous FPoint Tree, 8 = Sparse, W = Wildcard

Group: 235.1.1.1
Source: *
RE: 2.2.2.2
Flag=s: sparse,rptree,wildcard
Upstream interface: xe-5/3/0.0
Upstream neighbor: 17.2.1.2
Upstream state: None
Uptime: 00:23:49
Downstream neighbors:
Interface: xe—-2,/1/0.0
17.4.1.3 State: Join Flags: SRW Timeout: Infinity
Uptime: 00:23:49 Time since last Join: 00:01:17

Instance: PIM.master Family: IMNETH
E = Rendezvous FPoint Tree, 8 = Sparse, W = Wildcard

user@R3> show multicast route
Inztance: master Family: INET

Inztance: master Family: INETE

http://www.ensurepass.com/



Dumps with PDF and VCE +Free VCE Software

Referring to the exhibit, which statement is true about the multicast state on R3?

A. R3 has no PIM neighbors.

B. R3 has no receivers.

C. R3 has no route to RP.

D. R3 is not receiving any traffic

Answer: D

Question No : 14 - (Topic 1)

userfrouter> show interfaces ge-0/0/0
Physical interface: ge-0/0/0, Enabled, PFhyaical link is Up
Interface index: 128, SHMP ifIndex: 22
Link-level type: Ethernet, MIU: 1514, Speed: 100mbps, Loopback: Disabled,
Source filtering: Disabled, Flow control: Enabled
Device flags : Present RBunning
Interface flags: SHMP-Traps Internal: 0x4000
Co5 queues : 4 supported, 4 meximum usable gueues
Current address: 00:05:85:02:38:00, Hardware address: 00:05:85:02:38:00
Last flapped : 2006-02-20 14:50:58 PS5T (2wdd 00:44 ago)
Input rate : 0 bpa (0 pps)
Output rate = 0 bps (0 pp3)
Active alarms : None
Active defects : None
Logical interface ge-0/0/0.0 {Index &&) (SNMP ifIndex 198)
Flags: SNMP-Traps Encapsulation: ENET2
Protocol inet, MIU: 1500
Flags: None
Addresses, Flags: Ia-Preferred Is-Primary

userfrouter> show ospf neighbor

Address Interface State ID Pri Dead
3 Cieth s LR ge-0/0/0.0 Exstart 2.2.2..2 128 36

userfirouter> show log trace ospf

Apr 24 12:19:01 Version 2, length 48, ID 1.1.1.2, area 0.0.0.0

Apr 24 12:19:01 checksum Oxbdl2, authtype 0

Apr 24 12:19:01 mask 255.255.255.252, hello ivl 10, opts Ox2, prio 128
Apr 24 12:19%:01 dead iwvl 40, DR 2.2.2.2, BDR 2.2.2.3

Apr 24 12:19:01 checksum 0Ox66a2, authtype 0

Apr 24 12:19:01 options Ox42, i 1, m 1, ms 1, seqg Oxa0f3843, mtu 1500
Apr 24 12:19:01 OSPF now slave for nbr 10.0.8.1

Apr 24 12:19:01 options Ox42, i 1, m 1, ms 1, seqg Oxal4c360, mtu 1500
Apr 24 12:19:01 options Ox42, i 0, m 0, ms 0, seqg Oxal4c3e0, mtu 2954
Apr 24 12:19:01 OSPF packet ignored: MIU mismatch from 2.2.2.2 on intf ge-0/0/0.0 area 0.0.0.0
Apr 24 12:19:01 Version 2, length 48, ID 1.1.1.2, area 0.0.0.0

Apr 24 12:19:01 checksum Oxbdl2, authtype 0

Apr 24 12:19:01 mask 255.255.255.252, hello_ivl 10, opts Ox2, prio 128
BApr 24 12:19:01 dead ivl 40, DR 2.2.2.2, BDR 2.2.2.3

Apr 24 12:19:01 checksum 0Ox66a2, authtype 0

Lpr 24 12:19:01 options 0x42, 1 1, m 1,

Apr 24 12:19:01 options Ox42, i 1, m 1, ms 1, seqg Oxald4c360, mtu 1500
Apr 24 12:19:01 opticons Ox42, 1 0, m 0, ms 0, seg Oxal4c360, mtu 2986

You have been asked to troubleshoot an OSPF problem where the OSPF session will not
establish.

According to the outputs shown in the exhibit, which statement is true?
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A. The hold-time interval is set too low.
B. There is an MTU mismatch.

C. The hold-time interval is set too high.
D. The dead-interval is set too low.

Answer: B

Question No : 15 - (Topic 1)

Click the Exhibit button.
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The IGP is IS-IS. Routes from R1 need to be present on R6. Referring to the exhibit, what
will accomplish this task?

A. Create an L1 adjacency between R2 and R3 to allow the routes to pass through to R6.
B. Use policy on R3 to leak R1's routes from L2 to L1.

C. Change the area address from 49.0003 to 49.0001 on R6 to allow R6 to accept routes
from R1.

D. Use policy on R2 to leak R1's routes from L1 to L2.

Answer: B

Question No : 16 - (Topic 1)
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You have assigned target:65432:100 as the route target for Customer A's BGP Layer 2
VPN. The PE1 router VRF is configured with vrf-target export target:65432:100.Which
configuration on PE2 correctly assigned Customer A's routes to their VRF?

A. vri-target target:65432:100

B. route-target target:65432:100

C. vrf-target export target:65432:100
D. route-target export target:65432:100

Answer: A

Question No : 17 - (Topic 1)

Click the Exhibit button.

Referring to the OSPF link metrics in the exhibit, which path will traffic from R6 take to
reach R1?

A. R6, R3, R2, R4, R1

B. R6, R3, R2, R1
C.R6,R5, R4, R1

D. R6, R5, R3, R2, R4, R1

Question No : 18 - (Topic 1)
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Click the Exhibit button.
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[edit]
userldrouter# show firewall
policer policerd |
logical-interface-policer;
if-exceeding |
bandwidth-limit 10m;
burst-size-limit 500k;
}

then discard;

}

[edit]
userl@router# show interfaces
ge—-0/0/2 |
unit 0 {
family inet {
policer |
input policerd;
}
}
family ineté |
policer |
input policerd;
}
}
}
unit 1
family inet {
policer |
input pniicerﬁ;
i
h
i
i
ge-0/0/3 {
unit 0

family inet {

policer |

input policerd;

}
}
family ineté |

policer |
} R R e s com/
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Traffic is flowing through the interfaces in the exhibit as follows:

On ge-0/0/2.0, IPv4 traffic has a throughput rate of 4 Mbps, and the burst size counter is at
200 KB.

On ge-0/0/2.0, IPv6 traffic has a throughput rate of 7 Mbps, and the burst size counter is at
550 KB.

On ge-0/0/3.0, IPv4 traffic has a throughput rate of 5 Mbps, and the burst size counter is at
250 KB.

On ge-0/0/3.1, IPv6 traffic has a throughput rate of 12 Mbps, and the burst size counter is
at 450 KB.

Which statement describes what is happening?

A. IPv6 traffic on ge-0/0.3.1 is being dropped; all other traffic is unaffected.

B. IPv4 traffic on ge-0/0/2.0 is unaffected; IPv6 traffic on ge-0/0/2.0 is being dropped; IPv4
traffic on ge-0/0/3.0 is unaffected; IPv6 traffic on ge-0/0/3.1 is being dropped.

C. IPv4 traffic on ge-0/0/2.0 is being dropped; IPv6 traffic on ge-0/0/2.0 is being dropped,;
IPv4 traffic on ge-0/0/3.0 is unaffected; IPv6 traffic on ge-0/0/3.1 is unaffected.

D. All IPv4 and IPv6 traffic on ge-0/0/2 and ge-0/0/3 is being dropped.

Answer: B

Question No : 19 - (Topic 1)

R1 and R2 are IS-IS Level 1 routers, but are not forming an adjacency.

Which two reasons would account for this happening? (Choose two.)

A. The remote router is configured for both IPv4 and IPv6.

B. The remote router does not have family iso enabled on its interface,

C. The remote router does not have family clns enabled on its interface.

D. The remote router is not configured to participate in the same Level 1 area

Answer: B,D

Question No : 20 - (Topic 1)
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Feb 9 16:58:56.5380693 task reset_socket: task BGP_66666_65001.10.10.17.253+179 socket 35

Feb 9 16:58:56.580966 bgp event: peer 10.10.17.253 (External AS 66666) old state Connect event OpenFail new state Idle
Feb 9 16:58:56.5381592 bgp_event: peer 10.10.17.253 (External AS 66666) old state Idle event Start new state Active
Feb 9 17:00:07.868665 task timer dispatch: calling BGP_66666_65001.10.10.17.253 Connect, late by 0.00%

Feb 9 17:00:07.863042 bgp_connect_timeout: BGP_66666_65001.10.10.17.253_Connect

Feb 9 17:00:07.868158 bgp connect start: peer 10.10.17.253 (External AS 66666)

Feb 9 17:00:07.869252 bgp_event: peer 10.10.17.253 (External AS 66666) old state Rctive event ConnectRetry new state
Connect

Feb 9 17:00:07.869951 task get_socket: domain AF INET type S5OCK _STREARM protocol 0 socket 35

Feb 8 17:00:07.870180 task set_socket: task BGP_66666 65001.10.10.17.253 socket 35

Feb 9 17:00:07.870398 task set_option internal: task BGP_66666_65001.10.10.17.253 socket 35 option NonBlocking(8) wvalue 1

Feb 8 17: task set_option internal: task 3GF:66666765001.10.10.17.253 socket 35 option ReUselddress(3) value 1
Feh 9. 17% task set_option_internal: task BGP_66666_65001.10.10.17.253 socket 35 option PathMIUDiscovery(26)
value 0O

Feh-9 17z task set_option internal: task BGP_66666_65001.10.10.17.253 socket 35 option RoutingTable(27) walue 5
Feb 8 17: 7 task_set option internal: task BGP_66666 65001.10.10.17.253 socket 35 option TOS(16) value 182

Feh- 9 17z task set_option internal: task BGP_66666_65001.10.10.17.253 socket 35 option DontRoute(5) wvalue 1
Feb 8 17: task set_option_internal: task BGP_66666_65001.10.10.17.253 socket 35 option IifRestrict(36) value 1
Feh- 9 17z task set option internal: task BGP_66666_65001.10.10.17.253 socket 35 option TTL(15) wvalue 1

Feb 9 17: 7 task_addr_local: task BGP_66666_65001.10.10.17.253 address 10.10.17.238

Feb 9 17:00:07.875442 task connect: task BGP_66666_65001.10.10.17.253+179 addr 10.10.17.253+179task_timer reset: reset BGP
66666_65001.10.10.17.2534179 Connect - B B B B
Feb 9 17:00:07.875634 task timer set oneshot latest: timer BGP_66666_65001.10.10.17.253+179 Connect interval set t
Feb 9 17:00:07.875757 task timer dispatch: revurned from BGP_66666_65001.10.10.17.253+4173 Connect, rescheduled in
Feb 9 17:01:24.602351 task process events: connect ready for BGP 66666 6€5001.10.10.17.253+179

Feb 9 17:01:24.602915 bgp_;nnnacc_;mrplete: error connecting to 10.10.17.253 (External AS 66666): Socket is not connected
Feb 9 17:01:24.603030 bgp close_socket: peer 10.10.17.253 (External AS 66666)

Feb 9 17:01:24.603158 task close: close socket 35 task BGP_66666_65001.10.10.17.253+179

Feb 9 17:01:24.603255 task reset socket: task BGP_66666 65001.10.10.17.253+179 socket 35

Feb 9 17:01:24.603484 bgp_event: peer 10.10.17.253 (External AS 66666) old state Connect event OpenFail new state Idle
Feb 9 17:01:24.604095 bgp event: peer 10.10.17.253 (External AS 66666) old state Idle event Start new state Active

Feb 9 17:02:35.923738 task timer dispatch: calling BGP_66666_65001.10.10.17.253_Connect, late by 0.055

Feb 9 17:02:35.923964 bgp connect_ timeout: BGP_ 66666 _65001.10.10.17.253 Connect

You are asked to configure an EBGP peering, but the peering does not establish and
transitions between the Connect and Active states.

Referring to the exhibit, what is causing the problem?

A. The number of messages from the BGP peer has exceeded the receive socket buffer.
B. An incorrect local AS has been configured in the BGP group configuration.

C. BGP is waiting to receive a keepalive or notification message from the peer.

D. The BGP peer has an incorrect address configured, causing a connectivity failure.

Answer: D

Question No : 21 - (Topic 1)

Which statement is true about ASM and/ or SSM multicast?

A. ASM requires an external mechanism to find the source.

B. SSM only builds RPT trees, since the RP is replaced by an external mechanism.
C. ASM and SSM for IPv6 multicast use embedded RP.

D. SSM does not require MSDP.

Answer: D

Question No : 22 - (Topic 1)
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You have been asked to make a configuration which inherits the statements in a predefined
configuration group. What will accomplish this?

A groups
group-name |
configuration-data;

E. apply-groups <apply-group-names;
. apply-macro <apply-macro-name®;

[0, event-options {
event-script |
file file-name;

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Question No : 23 - (Topic 1)

Click the Exhibit button.

Customer A rd N, Custorner A
OSPF Area 0 e ——— OSPF Area 0
' R N
2 7 PE1 PE2 -
CE1 . / CE2
| b I oy POEIL
B Ea 1
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Referring to the exhibit, your network management systems have alerted you to a loss of
connectivity to the CE2 router in your Layer 3 VPN. The loopback address of the CE router
is 10.10.1.1/32.Which operational command on PE2 verifies connectivity across the PE-CE
link?

A. ping 10.10.1.1

B. ping 10.10.1.1 table customer-a

C. ping 10.10.1.1 instance customer-a

D. ping 10.10.1.1 routing-instance customer-a

Answer: D

Question No : 24 - (Topic 1)

user@PE> show configuration routing-instances
cusT |

instance—-type wvrf;

interface xe—-5/2/0.0;

route—distinguisher 1:1;

vrf-target target:1:1;

vrf-table-labkel;
}

user@PE> show configuration interfaces xe-1/3/0
unit 0 {

description CORE-INTERFACE;

family inet {

address 17.2.1.2/24;

}

family mpls;
}

user@PE> show configuration class-of-service classifiers
dscp DIFFSERVCLASS {
forwarding-class expedited-forwarding {
loss-priority low code-points 101110;

1
}
exp DIFFSERVCLASS-EXP |
forwarding-class expedited-forwarding {
loss-priority low code-points 101;

}

Referring to the exhibit, which configuration is required on the Layer 3 VPN PE router to
classify EF packets from the core MPLS network into the expedited-forwarding queue?
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A. Set class-of-service interfaces xe-1/3/0 unit O classifiers dscp default

B. Set class-of-service interfaces xe-1/3/0 unit O classifiers dscp DIFFSERVCLASS

C. Set class-of-service interfaces xe-1/3/0 unit O classifiers exp default

D. Set class-of-service routing-instances CUST classifiers exp DIFFSERVCLASS-EXP

Answer: D

Question No : 25 - (Topic 1)

You have recently implemented a new Layer 2 VPN and it is not establishing. The show
I2vpn connections command displays an out-of-range state.

What is causing this problem?

A. The local site ID value is too high for the label block.

B. The VRF target community values do not match between sites.
C. The VRF route distinguisher values do not match between sites.
D. The local site ID is not defined.

Answer: A

Question No : 26 - (Topic 1)

user@router> show mpls lsp extensive
Ingress LSP: 1 sessions

4.4.4.4
From: 1.1.1.1, State: Up, ActiveRoute: 0, LSPname: R1-to-R4
ActivePath: pathR4 (primary)
Node/Link protection desired
LSPtype: Static Configured
LoadBalance: Least-fill
Encoding type: Packet, Switching type: Packet, GPID: IPv4
*Primary pathR4 State: Up, No-decrement-ttl
Priorities: 7 0
OptimizeTimer: 900
SmartOptimizeTimer: 180
Include Any: JUNOS
Reoptimization in 51 second(s).
Computed ERO (S [L] denotes strict [loose] hops): (CSPF metric: 3)
17.1.1.2 5§ 17.2.1.3 5 17.4.1.4 §
Received RRO (ProtectionFlag l=Rvailable 2=InUse 4=B/W &=Node 10=3SoftPFreempt 20=Node-ID):
2.2.2.2(flag=0x2b) 17.1.1.2(flag=0xb Label=299856) 17.3.1.4
21 May 21 14:11:14.236 CSPF failed: no route toward 4.4.4.4
20 May 21 14:11:14.236 17.1.1.2: Tunnel local repaired
19 May 21 14:10:29.235 CSPF failed: no route toward 4.4.4.4
18 May 21 14:10:29.234 17.1.1.2: Tunnel local repaired
17 May 21 14:09:44.234 CSPF failed: no route toward 4.4.4.4
16 May 21 14:09:44.234 17.1.1.2: Tunnel local repaired
15 May 21 14:08:59.230 CSPF failed: no route toward 4.4.4.4
14 May 21 14:08:59.229 17.1.1.2: Tunnel local repaired
13 May 21 14:0 23 CSPF failed: no route toward 4.4.4.4

12 May 21 14 5.123 17.1.1.2: Tunnel local repaired[2 times]
11 May 21 14 .227 Record Route: 2.2.2.2(flag=0x2b) 17.1.1.2(flag=0xb Label=299856) 17.3.1.4
10 May 21 14 0.433 CSPF failed: no route toward 4.4.4.4

9 May 21 14 0.433 CSPF: link down/deleted: 0.0.0.0{17.2.1.3:0)(17.2.1.3)->0.0.0.0(3.3.3.3:0)(3.3.3.3)
8 May 21 14:0 0.371 CSFF failed: no route toward 4.4.4.4
7 May 21 14:08:50.371 CSPF: link down/deleted: 17.2.1.2(2.2.2.2:0)(2.2.2.2)->0.0.0.0(17.2.1.3:0)(17.2.1.3)

6 May 21 14:01:43.347 Selected as active path

5 May 21 14:01:43.346 Record Route: 2.2.2.2(flag=0%29) 17.1.1.2(flag=9 Label=299856) 3.3.3.3(flag=0x21) 17.2.1.3(flag=1 Label=299840)
4.4.4.4(flag=0x20) 17.4.1.4(Label=3)

4 May 21 14:01:43.346 TUp

3 May 21 14:01:43.318 Originate Call

2 May 21 14:01:43.318 C5PF: computation result accepted 17.1.1.2 17.2.1.3 17.4.1.4

Created: Tue May 21 14:01:14 2013
Total 1 displayed, Up 1, Down O
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Referring to the exhibit, which two statements are correct about the LSP? (Choose two.)

A. The primary LSP flapped following a link flap.

B. The LSP will go down after 51 seconds.

C. The head-end is signaled that the LSP is protected following a link flap.
D. The LSP constraint checks are failing following a link flap.

Answer: C,D

Question No : 27 - (Topic 1)

Click the Exhibit button.

L

192 1E~8r.1 00.0:24

In the exhibit, Area 1 and Area 2 are configured as not-so-stubby areas. RIP network
192.168.100.0/24 is redistributed into OSPF in Area 1.Which three statements are true?
(Choose three.)

A. Network 192.168.100.0/24 is advertised in a Type 7 LSA in Area 1.

B. Network 192.168.100.0/24 is advertised in a Type 7 LSA in Area 0.

C. Network 192.168.100.0/24 is advertised in a Type 5 LSA in Area 0.

D. The area border router between Area 0 and Area 2 converts network 192.168.100.0/24
to a Type 7 LSA.

E. Area 2 does not see the network 192.168.100.0/24 in its link-state database.

Answer: A,C,E
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Question No : 28 - (Topic 1)

Click the Exhibit button.

customer—-vpn |
instance-type vri;
interface ge-0/0/0.0;
route-distinguisher 172.16.1.1:1;
vri-target target:85000:100;

You are configuring a new PE router in your Layer 3 VPN. A remote PE router is using the
configuration shown in the exhibit. Which configuration is needed to receive customer-vpn
routes from the remote PE?

http://www.ensurepass.com/



Dumps with PDF and VCE +Free VCE Software

“ A customer-vpn |

}

instance-type vrf;
interface ge-0/0/1.0;

route-distinguisher 172.

vri-target |

export target:a6>000:
import target:&5000:

© B. customer-vpn |

}

instance-type vrf;
interface ge-0/0/1.0;

route-distinguizher 17Z2.

vrf-target |

export target:a65000:
import target:A5000:

" C. customer—-vpn |

}

instance-type vrf;
interface ge-0/0/1.0;

route-distinguizher 172.
vrif-target target:&b000:

T D customer-vpn |

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

instance-type vrf;
interface ge-0/0/1.0;

route-distinguisher 172.
vrif-target target:ab000:

el Fa iy

LA
200 ;

i LT DR

200 ;
200;

L il ]
100 ;

i e B e [
200 ;
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Question No : 29 - (Topic 1)

Click the Exhibit button.

Custamar A Customar A

Customar B

Cuslemer A Cuslarnes B

Referring to the exhibit, you want to save CPU processing load on the PE3 router by
preventing the reception of routes belonging to Customer B. Which Layer 3 VPN scaling
mechanism provides this functionality?

A. route origin

B. route refresh

C. route reflection

D. route target filtering

Answer: D

Question No : 30 - (Topic 1)

Click the Exhibit button.
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[edit]
user@Rd# run show isis datakase
I53-I3 level 1 link-state database

L3P ID Sequence Checksum Lifetime Attributes
B4 .00-00 04 Oxe388 1154 L1 Lz
R3.00-00 03 DxZdzel 1150 L1 LZ
BR3.0Z-00 0=z Oxd 6oy 1150 L1 Lz

3 LaPFs

I3-I8 lewvel 2 link-state database

L3P ID Sequence Checksum Lifetime Attributes
R4 .00-00 05 Dxeeid 1154 L1 LZ
R3.00-00 04 Oxedlf 1150 L1 LZ
R3I.0Z-00 03 Oxddo2 1151 L1 LZ

3 L3ps
[edit]
user AR4#

Based on the output shown in the exhibit, which statement is correct?

A. R3 is the designated intermediate system.
B. R3 is the backup designated intermediate system.
C. R3 has been configured with an export policy and is announcing external routes to IS-IS

neighbors.
D. R3 is using both IPv4 and IPv6 resulting in two pseudonodes.

Answer: A

Question No : 31 - (Topic 1)

Which two statements describe advantages of using BGP for VPLS signaling instead of
LDP signaling? (Choose two.)

A. There is no need for MPLS signaling protocol.

B. There is a well-defined scaling hierarchy.

C. There is a separation of signaling from other services.
D. There is auto discovery.

Answer: B,D

Question No : 32 - (Topic 1)
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You have recently added LDP-signaled VPLS to your network. The VPLS connections are
established and you have been asked to verify that the forwarding plane is working
properly. Which three commands would you use? (Choose three.)

A. ping mpls Idp <fec>

B. show vpls connections

C. traceroute mpls Idp <fec>
D. show vpls mac-table

E. show Idp statistics

Answer: A,C,D

Question No : 33 - (Topic 1)

Click the Exhibit button.

AS 65432 AS 65221

L N N B N N N N N

R3 and R4 want to establish an EBGP session between each other's loopback addresses.
They have each configured static routes to the other's loopback address and can ping from
loopback to loopback. Their EBGP session is configured with correct neighbor and local
addresses. The correct AS numbers have been specified at the [routing-options] hierarchy
as well. Considering the topology in the exhibit, which statement is true?

A. BGP's protocol preference must be adjusted to be lower than protocol static for the
session to establish.
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B. Each side must configure multipath for the session to establish.
C. Each peer must specify a local-as within their EBGP configuration for the session to

establish.
D. Each peer must configure multihop for the session to establish.

Answer: D

Question No : 34 - (Topic 1)

Click the Exhibit button.

user@router® monitor traffic detail interface so-0/1/0 size 1514
Listening on so-0/1/0
11:55:48.470418 Im ISTE(186), 30:30:20:30:30:30 > 30:30:30:30:30:30, hlen: 27, wv: 1,
sys-id-len: & {0}, max-area: 3 (0), LZ L3P
lop-id: 1921.2804.8001.00-00, =eq: 0x00000003, lifetime: 115%a
chkeum: Ox8&e% (correct), PDU length: 12é&, LILEZ IS
irea address(es) TLV #l, length: 4
Area address (3): 4%2.0001
Protocols supported TLW ¥129, length: 2
NLPID(=2): IPvd, IEWVE
Traffic Enginsering Router ID TLV 134, length: 4
Traffic Engineering Router ID: 192.168.43.1
Ipwd Interfase addresales) TLV #132, length: 4
IFvi interface address: 192.168.48.1
Hostname TLV #137, length: 8
Hostname: dacPaulo
IPvE Internal reachability TLV #128, length: 24
IEwd '_Drcf:i_x: 192.1648.468.1/32
Default Metric: 00, Internal, Distribution: up
IPvd prefix: 10.222.60.0/24
Default Metric: 10, Internal, Distribution: up
Extended IPv4 reachability TLV #1235, length: 17
IPvd prefizx: 1%2.168.48.1/32
Metriz: 0, Distribution: up, no sub-TLV=s present
IPvd prefix: 10.22Z.60.0/24
Metric: 1O, Distribution: up, no sub-TLV= present
IPv4 External reachsbility TLV #130, length: 12
IPv: prefix: 192.168.49.0/24
pefault Metris: 00, Internal, Distribution: up
Extended IPv4 reachability TLV #1335, length: &
TPvi prefix: 192.168.49.0/24
Metric: 0, Distribution: up, no sub-TLVs present
If Reachability TLV #2, length: 12
IaNotVirtual
IPvd prefix: 192.168.49.0/24
Default Metrice: 00, Internal, Distribution: up
Bxtended IPvd reachability TLV #135, length: B
IPvd prefix: 192.168.45.0/24
Metric: 0, Distribution: up, no sub-TLVs present
I8 Reachability TLV #Z, length: 12
IsMotVictual
I8 Meighbor: 1821.6805.2001.00, Default Metric: 10, Intsrnal
Extended I3 Reachability TLY #ZZ, length: Z3
I8 Neighbor: 1921.6805.2001.00, Metric: 10, sub-TLV= present (12)
IPvl interface asddress: 10.222.60.2
IFv4 neighbor address: 10,.2ZE.é0.1
Authentication TLV #10, length: 17
HMAC-MDS password: 00bb3ZTdTT71E2bhceadl0ZeS16eZ333077

The output in the exhibit was captured on an interface. Which three statements are true
about the configuration on the router with hostname SaoPaulo? (Choose three.)
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A. Wide metrics is not in use.

B. The router has the overload bit set to "on".
C. Authentication is enabled.

D. System ID is 1921.6805.2001.

E. Level 2 routing is enabled.

Answer: A,C,E

Question No : 35 - (Topic 1)

Click the Exhibit button.

CEf CE3

i
VRE VRE
Rotrie rgad RT1 Route torgel RT 1
Sila 1D 2 Site 1 3
Lkl rarge 4 Labut range Ll
i Labelbasa 200 Label basa 3000
i Labal olfsi t Labal cdisa 1

In the exhibit, on which label value does PE1 expect to receive traffic from CE3 for VPN A?

A. 2002
B. 3001
C. 3002
D. 2001

Answer: A

Question No : 36 - (Topic 1)
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Which two configuration parameters are required to configure a BGP-signaled VPLS
service? (Choose two.)

A. vpls-id

B. site-identifier

C. route-distinguisher
D. site-address

Answer: B,C

Question No : 37 - (Topic 1)

Click the Exhibit button.

uzer@R5# run show bgp neighbor
Peer: 192.169.56,.1+172 A% 65000 Locsl: 152.168.56.53+536710 AF &5000

Type: Internal State: Established Flags: <8yns>

Last State: CpenConfirm Last Event: RecvKeepAlive

Last Error: Open Message Error

Options: <Preference Localiddress Refresh>

Local Address: 192.168.56.5 Holdtime: 90 Preference: 170

Number of flaps: 1

Last flap event: RecvNotify

Error: "Open Message Error' Sent: Z Recwv: 0

Error: "Cease' Sent: 0 Recv: 1

Peer ID: 192.1648.54.1 Local ID: 1%2.168.56.5 Active Holdtime: 20

Keepalive Interval: 30 Peer index: 0O

BFD: disabled, down

NLRI for restart configured on peer: lnet-unicast

NLRTI adwvertised by peer: inet-unicast ineté-unicast

NLRI for this session: inet-unicast

Peer supports Refresh capability (Z)

Restart time configured on the peer: 120

gtale routes from peer are kept for: 300

Restart time requested by this peer: 120

NLRI that peer supports restart for: inet-unicast ineté-unicast

NLRI that restart is negotiated for: inet-unicast

NLRI of received end-of-rib markers: inet-unicast

NLRI of all end-of-rib markers sent: inet-unicast

Peer supports 4 byte A3 extension (peer-as &5000)

Peer does not support Addpath

Table inet.0 Bit: 10000
RIB 3tate: BGP restart is complete
Send state: in synec
Active prefixes:
Received prefixes:
Accepted prefixes:
Suppressed dues to damping:
Advertised prefixes:

Last traffic (seconds): Receiwved 4 Zent 4 Checked 4

Input messages: Total 3 Updates 1 Refreshes 0 Octets 101

ODutput messages: Total 7 Updates 0 Refreshes 0 Ooctets 284

Output Queus[0]: O

oOooooo

The exhibit shows the output of a Junos show bgp neighbor command. Which two
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statements are true? (Choose two.)

A. IPv4 routes will be exchanged over this session.
B. IPv6 routes will be exchanged over this session.
C. The local router initiated the BGP session.

D. BFD keepalive is configured to 30 seconds.

Answer: A,C

Question No : 38 - (Topic 1)

Click the Exhibit button.

AREA 1 AREA O
’
3
R1
RS
.
RZ Configuration R4 Configuration
protocols { pratocals {
ospf [ aspf |
e 00T | ati L0007 |

i
area 0000 {

¥
¥
I

slub defaull-matric 5 no-summaries;
irterface ge- 10000

inferface ge- 1010010,

siub default-metric 10;
Interface ge-10000.0;
H
area 0.0.0.0{
interface ge- 10010
b
H
1

R2 and R3 advertise a default route into Area 1.Based on the configurations in the exhibit,
which statement is true? (Choose two.)
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A. Traffic from R1 to internal OSPF destinations in Area 0 will always transit R4.
B. Traffic from R1 to internal OSPF destinations in Area 0 will always transit R2.
C. Traffic from R1 to external OSPF destinations in Area 0 will always transit R2.
D. Traffic from R1 to external OSPF destinations in Area 0 will always transit R4.

Answer: A,C

Question No : 39 - (Topic 1)

Click the Exhibit button.

10.200M16

Level 1

R2 is announcing the 10.200/16 network to its 1S-1S neighbors. No routing policies have
been applied to R3. Referring to the exhibit, will R5 have 10.200/16 as an I1S-IS route?

A. Yes; IS-IS level 2 externals are passed from level 2 to level 1 by default.

B. No; IS-IS level 2 externals are only passed to level 1 if wide-metrics-only is configured
on all routers.

C. Yes; all level 2 routing information is shared throughout an 1S-1S domain by default.
D. No; IS-IS does not announce routes from level 2 to level 1 unless a routing policy is
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applied.

Answer: D

Question No : 40 - (Topic 1)

Click the Exhibit button.

userf@router$# show
traffic-control-profiles |
L3-unit-profile {
scheduler-map "sched-map-example; ™;
shaping-rate 30m;
guaranteed-rate Z0m;
'
'

interfaces |
ge-0/1/1 |
output-traffic-—control-profile "ll-port-profile;™;
unit 100 {

output-traffic-control-profile L3-unit-profile;
h

What would happen if the guaranteed-rate command is removed from the configuration
shown in the exhibit?

A. The logical interface gets a minimal bandwidth reservation.
B. The minimum-rate command should be configured instead.
C. The logical interface receives no bandwidth constraints.

D. The transmit-rate command should be configured instead.

Answer: A

Question No : 41 - (Topic 1)
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user@Rl> show interfaces terse

Interface 2dminLink Proto Local FEemote
so0-0/0/0.0 up up inet 10.34.0.1/30

i=so
a30-1/0/0.0 up up inet 10.34.0.5/30

is0

user@Rlf show interfaces
s0-0/0/0 {
no-keepalives;
encapsulation cisco—hdlc;
unit 0 |
family inet |
address 10.34.0.1/30;
}
1

1
so0-1/0/0 |
no-keepalives;
encapsulation cisco-hdlc;
unit 0 |
family inet |
address 10.34.0.5/30;
}
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useri@RZ> show iﬁterfaces terse

Interface ZdminLink Proto Iocal Eemote
so—-0/0/0.0 up up inet 10.34.0.2/30

1so
so-1/0/0.0 up up inet 10.34.0.6/30

iso

uzer@R2f show interfaces
s0-0/0/0 |
no—keepalives;
encapsulation cisco-hdlec;
unit 0 {
family inet |
address 10.34.0.2/30;
}
}

}
s0—-1/0/0 {
no-keepalives;
encapsulation cisco-hdlc;
unit 0 |
family inet |
address 10.34.0.6/30;
}

You have created a new IS-IS adjacency between identical routers over two STM-4
circuits. After enabling no-keepalives on the interfaces, they come up and you are able to
ping between the routers. However, the 1S-IS adjacency still will not establish.

Which step will determine the cause of the problem?

A. Disable no-keepalives from the interfaces and issue a show isis adjacency command.
B. Enable family iso on all the SONET interfaces, commit, and test the circuits.

C. Disable cisco-hdIc encapsulation, enable ppp encapsulation, commit, and test the
circuits.

D. Disable no-keepalives from the interfaces and issue a show interfaces extensive
command for each of the SONET interfaces.

Answer: D
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Question No : 42 - (Topic 1)

Click the Exhibit button.

[edit]
root@R4# run show isis database
I3-I8 level 1 link-state databhase

LIF ID Sequence Checksum Lifetime Attributes
R4.00-00 02 Oz flhe 1072 L1 LEZ
R3.00-00 0x3 Oxf316 1192 L1 LZ oOwerload
R3I.0Z-00 02 Oxalle 11%2 L1 LEZ

3 LaPs

I3-I8 level 2 link-state database

L3P ID Sequence Checksum Lifetime Attributes
R4.00-00 D=2 Oxd4baa 1073 L1 LEZ
1 LaPs

Based on the output in the exhibit, which statement is correct?

A. R4 has been configured with an 1S-IS export policy and is announcing external routing
information.

B. R3 and R4 have an adjacency at both level 1 and level 2.

C. R3 has been configured so that it is not used for transit traffic.

D. R3 and R4 are both attached to other I1S-IS areas.

Answer: C

Question No : 43 - (Topic 1)

You have applied a customized EXP rewrite rule on router R1 on the egress of the
interface connecting to router R2. You want to verify if it is working properly. Which two
methods would you use to accomplish this task? (Choose two.)

A. Apply a rewrite rule on the ingress of R2 for packets coming in from R1 and count those
packets for the new EXP values with a firewall filter as they leave R2.

B. Use the traceroute utility.

C. Use an output filter on R1 that matches and counts on various EXP values on packets
going to R2.

D. Use an input firewall filter on R2 that matches and counts on various EXP values on
packets coming from R1.

Answer: C,D
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Question No : 44 - (Topic 1)

Click the Exhibit button.

= MPLS domain

CE3

CE1, CE2, and CE3 are part of a single VPLS VPN. R1, R2, and R3 are PEs in the
provider network, and have just been powered on. The VPLS domain has converged, and
frames have passed between all CEs in the last minute. An Ethernet frame has just arrived
at R3 from CE3. It has a source MAC address of CE3 and a destination MAC address of
CE1.What does R3 do with the Ethernet frame?

A. Drops the packet as the destination MAC address is not for R3.

B. Drops the packet as the destination MAC address is not in R3's MAC table.
C. Forwards the packet to R1 only.

D. Forwards the packet to R1 and R2.

Answer: C

Question No : 45 - (Topic 1)

Click the Exhibit button.
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user@rls show

group isp-b |
type external;
peer-as 65502;
neighbor 192.0.2.6;
neighbor 192.0.2.10;

You work for ISP A, as shown in the exhibit, and must configure R1 to use load balancing
across both available links to ISP B's network. Which command do you use to finish the
configuration?

A. set protocols bgp group isp-b multipath

B. set routing-options forwarding-table export per-packet
C. set protocols bgp group isp-b multihop

D. set routing-options forwarding-table load-balance

Answer: A

Question No : 46 - (Topic 1)

Click the Exhibit button.

F Ty 4 .-\ﬁ
....-..F o aned |
IBGP » EBcP N
i 3 AS 65001 |
- R1 R2 , / R3
ey ASE5000 Nx
e P o N’

e il e e
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The exhibit contains a BGP topology. R1 and R2 are peering using IBGP. R2 and R3 are
peering with EBGP. R1 is not installing any routes from R3 due to next-hop resolution
issues. Which two configurations will resolve this issue? (Choose two.)

A. Use a policy to advertise the loopback on R2 into the IGP.

B. Advertise the R2-R3 subnet into the IGP.

C. Configure advertise-inactive on the IBGP peering session on R2.
D. Configure next-hop self on the IBGP peering session on R2.

Answer: B,D

Question No : 47 - (Topic 1)

An OSPF neighbor between routers R1 and R2 is stuck in loading state on R2. What are
two causes? (Choose two.)

A. OSPF is not enabled on the interfaces.

B. A firewall filter is blocking OSPF hellos on both sides.

C. The R1 router has received a corrupted link-state request packet.
D. The interface MTU is mismatched between the routers.

Answer: C,D

Question No : 48 - (Topic 1)

What are three Junos automation scripts? (Choose three.)

A. op scripts

B. pulse scripts
C. commit scripts
D. event scripts
E. action scripts

Answer: A,C,D

Question No : 49 - (Topic 1)
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Click the Exhibit button.

N AS 65000 %
-

B _+=Customer Router

¥

You are the administrator of AS 65000. In the exhibit, there are four links between your
network (AS 65000) and your upstream provider (AS 65001).

You have an export policy on all of your routers to advertise your routes such that:
Router A: MED 100, AS Path (65000), Origin 1

Router B: MED 100, AS Path (65000 65000), Origin O

Router C: MED 50, AS Path (65000 65000), Origin 1

Router D: MED 50, AS Path (65000), Origin O
Through which link will traffic from the Web server enter your network (AS 65000)7?

A. Router A
B. Router B
C. Router C
D. Router D
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Answer: D

Question No : 50 - (Topic 1)

In an interdomain multicast deployment scenario, an RP1 is in AS1 and an RP2 is in AS2.
MSDP is configured between RP1 and RP2.In which routing table on RP1 are source-
active messages (SAs) received from RP2 by default?

. inet.0
. inet.2
.inet.1
.inet.4

o0 w>»

Answer: D

Question No : 51 - (Topic 1)

Click the Exhibit button.

Layer 2 VPN
signaling

o

A LDP Layer 2 circuit is shown for VPN A and VPN B. LDP tunneling over RSVP is
activated on P1 and P2. Referring to the exhibit, which statement is true about the LDP
Layer 2 circuit?

A. MAC learning is needed and using the inner VPN label between PE1 and PE2 for VPN
A or VPN B.

B. Targeted LDP sessions are established between PE1, P1 and P2, PE2.

C. Label stitching must be configured on P1 and P2 for end to end transport LSPs.
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D. LDP must be enabled on the loopback interfaces of PE1 and PE2.

Answer: D

Question No : 52 - (Topic 1)

Click the Exhibit button.

user@PEl> show bgp neighbor | mateh nlri
NLRI for restart configured on peer: inet-unicast inet-wvpn-unicast
NLRI advertised by peer: ilnet-unicast
NLRI for this session: inet-unicast
NLRTI that peer supports restart for: inet-unicast
NLRI that restart is negotiated for: inet-unicast
NLRI of receiwved end-of-rib markers: inet-unicast
NLRI of all end-of-rib markers sent: inet-unicast

userBPEZ> show bgp neighbor | mateh nlri
NLRI for restart configured on peer: inet-unicast
NLRI adwvertised by peer: inet-unicast inet-vpn-unicast
NLRI for this session: inet-unicast
NLRT that peer supports restart for: inet-unicast inet-vpn-unicast
NLRI that restart 1s negotiated for: inet-unicast
NLRI of receiwved end-of-rib markers: inet-unicast
NLRET of all end-of-rib markers sent: inet-unicast

Two PE routers in your Layer 3 VPN are not advertising customer VPN routes to each
other. Referring to the output in the exhibit, which configuration parameter is missing?

A. family inet on PE1
B. family inet on PE2
C. family inet-vpn on PE1
D. family inet-vpn on PE2

Answer: D

Question No : 53 - (Topic 1)

Click the Exhibit button.
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user@PEZ> show route advertising-protocol bgp 192.168.3.1

customer-vpn.inet.0: 5 destinations, 5 routes (5 active, 0 holddown, 0 hidden)

Frefix Nexthop MED Lolpret A% path
* 172.16.2.0/24 Self 100 T
* 172.16.20.0/30 g2elf 100 65001 T
* 172.16.20.4/30 deltf 100 63001 T
* 172.16.20.8/30 Self 100 63001 T

userBPEL> show route advertising-protocol bgp 172.16.1.2

user@PEl> show route receive-protocol bgp 1%2.168.4.1

inet.0: & destinations, & routes (&6 active, 0 holddowm, 0 hidden}
customer-vph.inet.0: & destinations, & routes (2 active, 0 holddown, 4 hidden)
izo.0: 1 destinations, 1 routes (1 active, 0 holddown, 0 hidden)

mpls.0: 3 destinations, 3 routes (3 astive, 0 holddewn, 0 hidden)

bgp.l3vpn.0: 4 destinations, 4 routes (0 active, 0 holddown, 4 hidden)

Customer A is complaining that routes advertised from the CE2 router are not being
received on the CE1 router. The physical topology of the network is CE1-PE1-PE2-CE2.
The CE1-PE1 subnetis 172.16.1.0/24. The CE2-PE2 subnet is 172.16.2.0/24. PE1's
loopback is 192.168.3.1 and PE2's loopback is 192.168.4.1.Referring to the output in the
exhibit, what is the problem?

A. No LSP exists between PE1 and PE2.

B. Route targets are not properly configured.
C. as-override is not configured in the VRFs.
D. family inet-vpn is not configured on the PEs.

Answer: A

Question No : 54 - (Topic 1)

Your OSPF network includes an NSSA. Which LSA type is injected into the NSSA by the
ASBR?

A. Type 3
B. Type 5
C. Type 7
D. Type 9

Answer: C
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Question No : 55 - (Topic 1)

You are asked to retain several routes from an external BGP neighbor in the routing table
on your local router, but you are not allowed to forward traffic to these destinations. You
have configured a forwarding table firewall filter to block these routes, and applied it under
the (edit forwarding-options] hierarchy, but the routes are still showing up in the forwarding
table. What is required to achieve this task?

A. Configure an EBGP import policy on your local router to block the routes.

B. Have the EBGP neighbor configure an export policy to block the routes.

C. Configure an export policy for the forwarding table to block the routes.

D. Use the no-install configuration statement within the EBGP neighbor group on your local
router.

Answer: C

Question No : 56 - (Topic 1)

Click the Exhibit button.

15Z.168.56.1
From: 192.168.56.5, L8FPstate: Up, ActiveRoute: O
L3Fname: to-ré, LEBPpath: Primary
L3Ptype: Static Configured
Suggested label received: -, Suggested label sent: -

Recovery lakel receiwed: -, Recovery label sent: 3
Resv style: 1 FF, Lahel in: -, Lakel out: 3
Time left: -, Since: Tue Feb 22 21:38:36 2011

Tspec: rate Obps size Obps peak Infbps m 20 M 1500
Fort number: sender 1 receiver 18916 protocol O
FastReroute desired
PATH revirom: localelient
Adspec: sent MTUO 1500
Path MTU: receiwved 1500
PATH sentto: 10.10.56.1 (ge-1/0/1.0) 7 pkts
RESV rovirom: 10.10.56.1 i{ge-1/0/1.0) 5 pkts
Explet route: 10.10.5&6.1
Record route: <self>= 10.10.56.1
Detour is Up
Detour Tspec: rate Dbps size Obps peak Infbps m 20 M 1500
Detour adspec: sent MTU 1500
Fath MTU: receiwved 1500
Detour PATH sentto: 10.10.10.9%9 {(ge-1/0/2.0) 4 pkt=s
Detour RESV rowvifrom: 10.10.10.9 {ge-1/0/2.0) 3 pkts
Detour Explet route: 10.10.10.%2 10.10.10.6
Detour Record route: <self> 10.10.10.%9 10.10.10.6
Detour Lakel out: Z39854
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Referring to the exhibit, which type of traffic protection mechanism is used for the LSP?

A. link-protection

B. fast-reroute

C. node-link-protection
D. bypass

Answer: B

Question No : 57 - (Topic 1)

Router R5 has the overload parameter configured. Which statement is true?

A. R5 will purge its LSAs from the network until the overload condition is cleared.

B. R5 will increase its link metrics to 65535 and will stop forwarding transit traffic to OSPF
destinations.

C. R5 will increase its link metrics to 65535 and will continue to forward transit traffic to
OSPF destinations.

D. R5 will send an overload LSA to its neighbors to indicate it is in the overload state.

Answer: C

Question No : 58 - (Topic 1)

Click the Exhibit button.
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= = == Path 2
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Netwuork: details
»All linkss are Fast Ethernet
*|GF metric for all paths are
the zame
*Percentages reflect total
bandwidth resensed

You have an MPLS network and you have configured most-fill as a CSPF tiebreaker. Using
the information in the exhibit, which path will be used to signal a new LSP requiring 12
Mbps?

A. Path 1
B. Path 2
C. Path 3
D. Path 4

Answer: D

Question No : 59 - (Topic 1)

Click the Exhibit button.
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Referring to the exhibit, PE2 requires the loopback of PE1 to appear in the inet.3 routing
table as a labeled route. Which configuration parameter is specifically required to support
this?

A. resolve-vpn

B. family inet-vpn

C. traffic-engineering bgp-igp

D. traffic-engineering mpls-forwarding

Answer: A

Question No : 60 - (Topic 1)

An OSPF network has been designed with multiple areas to improve scalability. Which two
statements are true? (Choose two.)

A. Each router in the OSPF network runs the shortest-path-first algorithm to determine
paths through the network.

B. The Area Border Router for each area runs the shortest-path-first algorithm and floods
its results through the area.

C. Each area must have at least one link connecting it to each of the other areas of the
OSPF network.

D. OSPF provides loop-free routing within an OSPF routing domain, but does not
guarantee symmetrical routing.

Answer: A,D

Question No : 61 - (Topic 1)
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userfrouter> show bgp neighbor
Peer: 2.2.2.2+59344 AS 895 Local: 1.1.1.1+179 A8 89

Type: Internal State: Established Flags: <Sync>

Last State: OpenConfirm Last Ewvent: RecvEeepllive

Last Error: None

Options: <Preference Locallddress Refresh>

Local Address: 1.1.1.1 Holdtime: S0 Preference: 170

Number of flaps: 1

Last flap ewvent: RecvNotify

Error: "Hold Timer Expired Error"' Sent: 0 Recw: 1

Peer ID: 2.2.2.2 Liocal ID: 1.1.31.1 Active Holdtime: S0

Eeepalive Interval: 30 Peer index: 0

BFD: disabled, down

NLRI for restart configured on peer: inet-unicast

NLRI advertised by peer: inet-unicast

NLRI for this session: inet-unicast

Peer supports Refresh capability (2)

Stale routes from peer are kept for: 300

Peer does not support Restarter functionality

NLRI that restart is negotiated for: inet-unicast

NLRI of received end-of-rib markers: inet-unicast

NLRI of all end-of-rib markers sent: inet-unicast

Peer supports 4 byte AS extension (peer—as 83)

Peer does not support Addpath

Table inet.0 Bit: 10000
RIE State: BGP restart is complete
Send state: in sync
Lctive prefixes:
Received prefixes:

[ T e T e

Zccepted prefixes:
Suppressed due to damping: 0
Zdvertizsed prefixes: 0
Last traffic (seconds): Received 23 Sent 12 Checked 66
Input messages: Total 13292 Updates 1R efreshes 00 ctets 2532592
Cutput messages: Total 133010 pdates 0B efreshes 00 ctets 252782
Cutput Queue[0]: 0

Which two scenarios would explain the error shown in the exhibit? (Choose two.)

A. Packets were dropped in the receive path of the local router.

B. The local router received a route withdrawal from the peer.

C. Packets were dropped in the receive path of the peer router.

D. The local router egress interface towards the peer was congested.

Answer: C,D

Question No : 62 - (Topic 1)

Click the Exhibit button.
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